
MATHS

BOOKS - ICSE

TRIGONOMETRICAL RATIOS

Example

1. Evaluate : 

(i)  


(ii) 

Watch Video Solution

sin2 30∘ − 2 cos3 60∘ + 3 tan4 45∘

(cos 0∘ + sin 45∘ + sin 30∘ )(sin 90∘ − cos 45∘ + cos 60∘ )

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gsmuaEyXgYQY


2. Find the value of : 

Watch Video Solution

sin 30∘ − sin 90∘ + 2cos 0∘

tan 30∘ × tan 60∘

3. If , verify that : 


(i) 

Watch Video Solution

A = 60∘

sin2 A + cos2 A = 1     (ii) sec2 A − tan2 A = 1

4. If , evaluate : 

Watch Video Solution

x = 15∘ 8 sin 2x cos 4x sin 6x

5. If , prove that : A = 60∘ and B = 30∘

       sin(A − B) = sin A cos B − cos A sin B

https://dl.doubtnut.com/l/_IFMgHE948OUC
https://dl.doubtnut.com/l/_thuBCmW7K4jN
https://dl.doubtnut.com/l/_UNx8YDB2PckR
https://dl.doubtnut.com/l/_bHIqECBxeo6t


Watch Video Solution

6. If , then prove that : 


Watch Video Solution

A = 30∘

          cos 3A = 4 cos3 A − 3 cos A

7. Find A, if : 

Watch Video Solution

sin 2A = 1

8. Find A, if : 

Watch Video Solution

2 cos 3A = 1

https://dl.doubtnut.com/l/_bHIqECBxeo6t
https://dl.doubtnut.com/l/_VivaQ76VvkJp
https://dl.doubtnut.com/l/_hf79ulpAEx5P
https://dl.doubtnut.com/l/_mWwBzaBeL8vj
https://dl.doubtnut.com/l/_KvPlkMhn6IO0


9. Find A, if : 

Watch Video Solution

(sec A − 2)(tan 3A − 1) = 0

10. From the adjoining figure, find : 
tan x ∘

https://dl.doubtnut.com/l/_KvPlkMhn6IO0
https://dl.doubtnut.com/l/_HtQjbQki7A9j


Watch Video Solution

11. From the adjoining figure, find : 

 

Watch Video Solution

x ∘

https://dl.doubtnut.com/l/_HtQjbQki7A9j
https://dl.doubtnut.com/l/_vGWAaCQvROLZ
https://dl.doubtnut.com/l/_KaqlZU6p0uID


12. From the adjoining figure, find : 


 

Watch Video Solution

cos x ∘

https://dl.doubtnut.com/l/_KaqlZU6p0uID


13. From the adjoining figure, find : 

 

use  to find y.

Watch Video Solution

tan x ∘

https://dl.doubtnut.com/l/_cLLPKXLxyvvS


14. If  is an acute angle, find : 


(i) 

Watch Video Solution

4 sin2 x ∘ − 3 = 0  and x ∘

sin x ∘        (ii) x ∘

15. Find the magnitude of angle A, if : 

Watch Video Solution

4 sin A sin 2A + 1 − 2 sin 2A = 2 sin A

16. Find the magnitude of angle A, if : 

Watch Video Solution

2 sin2 A − 3 sin A + 1 = 0

https://dl.doubtnut.com/l/_7D7Q2nfpAJdc
https://dl.doubtnut.com/l/_I4zXohG5f1Fn
https://dl.doubtnut.com/l/_Hy1uaWRUUcUH


17. Find the magnitude of angle A, if : 

Watch Video Solution

3 cot2(A − 5∘ ) = 1

18. Find the magnitude of angle A, if : 

Watch Video Solution

sin2 2A + sin2 60∘ = 1

19. Find acute angles A and B, if .

Watch Video Solution

sin(A + B) = cos(A − B) =
√3

2

20. If , find the angles

A and B,where A and B are Acute Angles.

tan(A + B) = √3 and √3 tan(A − B) = 1

https://dl.doubtnut.com/l/_iqRVLIuZeS5L
https://dl.doubtnut.com/l/_Rb5CgchR1kkT
https://dl.doubtnut.com/l/_Egs65S6Wzaa2
https://dl.doubtnut.com/l/_K1kqW4jMKmXZ


Watch Video Solution

21. If , find the value of 

.

Watch Video Solution

√3 tan 2θ = 3 and 0∘ < θ ≤ 90∘

3√3 cos θ + 2 sin θ − 6 tan2 θ

22. Solve for  : 


Watch Video Solution

θ(0∘ < θ < 90∘ )

sin2 θ − sin θ = 0
1

2

23. Solve for  : 


Watch Video Solution

θ(0∘ < θ < 90∘ )

2 sin2 θ − 2 cos θ =
1

2

https://dl.doubtnut.com/l/_K1kqW4jMKmXZ
https://dl.doubtnut.com/l/_OHyayvKVhTRR
https://dl.doubtnut.com/l/_peu7TLDqYhdA
https://dl.doubtnut.com/l/_Iabt2Oz7VDsr
https://dl.doubtnut.com/l/_GpaCi5FUwP6r


24. Solve for  : 


.

Watch Video Solution

θ(0∘ < θ < 90∘ )

tan2 θ + 3 = 3 sec θ

25. Evaluate : 

(i)  


(ii) 

Watch Video Solution

sin2 30∘ − 2 cos3 60∘ + 3 tan4 45∘

(cos 0∘ + sin 45∘ + sin 30∘ )(sin 90∘ − cos 45∘ + cos 60∘ )

26. Find the value of : 

Watch Video Solution

                                                      
sin 30∘ − sin 90∘ + 2cos 0∘

tan 30∘ × tan 60∘

https://dl.doubtnut.com/l/_GpaCi5FUwP6r
https://dl.doubtnut.com/l/_jOwcXFQn9Yq0
https://dl.doubtnut.com/l/_9hC3s0RXEnkt


27. If , verify that : 


(i) 

Watch Video Solution

A = 60∘

sin2 A + cos2 A = 1     (ii) sec2 A − tan2 A = 1

28. If , evaluate : 

Watch Video Solution

x = 15∘ 8 sin 2x cos 4x sin 6x

29. If , prove that : 

Watch Video Solution

A = 60∘ and B = 30∘

       sin(A − B) = sin A cos B − cos A sin B

30. If , then prove that : 
A = 30∘

          cos 3A = 4 cos3 A − 3 cos A

https://dl.doubtnut.com/l/_0kD6KElVHnFV
https://dl.doubtnut.com/l/_R51t77eLO1mq
https://dl.doubtnut.com/l/_IMALYE6Mq5fb
https://dl.doubtnut.com/l/_E8YuTSL3Czu2


Watch Video Solution

31. Find A, if : 

Watch Video Solution

sin 2A = 1

32. Find A, if : 

Watch Video Solution

2 cos 3A = 1

33. Find A, if : 

Watch Video Solution

(sec A − 2)(tan 3A − 1) = 0

https://dl.doubtnut.com/l/_E8YuTSL3Czu2
https://dl.doubtnut.com/l/_G4MH5j1bb9fm
https://dl.doubtnut.com/l/_PqpUkrdmJfGH
https://dl.doubtnut.com/l/_H0VV3tvzFFiQ
https://dl.doubtnut.com/l/_PsCkfcnC7c83


34. From the adjoining figure, find : 

 

Watch Video Solution

tan x ∘

https://dl.doubtnut.com/l/_PsCkfcnC7c83


35. From the adjoining figure, find : 

 

Watch Video Solution

x ∘

https://dl.doubtnut.com/l/_2gLxrTYI5kdy


36. From the adjoining figure, find : 

 

Watch Video Solution

cos x ∘

https://dl.doubtnut.com/l/_jUTzwF1ohl4n


37. From the adjoining figure, find : 

 

use  to find y.

Watch Video Solution

sin x ∘

38. If  is an acute angle, find : 


(i) 

Watch Video Solution

4 sin2 x ∘ − 3 = 0  and x ∘

sin x ∘        (ii) x ∘

https://dl.doubtnut.com/l/_8NtQPg2tKyLC
https://dl.doubtnut.com/l/_6uXi7nSZZ1n0
https://dl.doubtnut.com/l/_3FJE9KeSGAzm


39. Find the magnitude of angle A, if : 

Watch Video Solution

4 sin A sin 2A + 1 − 2 sin 2A = 2 sin A

40. Find the magnitude of angle A, if : 

Watch Video Solution

2 sin2 A − 3 sin A + 1 = 0

41. Find the magnitude of angle A, if : 

Watch Video Solution

3 cot2(A − 5∘ ) = 1

https://dl.doubtnut.com/l/_3FJE9KeSGAzm
https://dl.doubtnut.com/l/_xNNXSwonbi0w
https://dl.doubtnut.com/l/_mbGQmKzLIM2h


42. Find the magnitude of angle A, if : 

Watch Video Solution

sin2 2x + sin2 60∘ = 1

43. Find acute angles A and B, if .

Watch Video Solution

sin(A + B) = cos(A − B) =
√3

2

44. If , find the angles

A and B.

Watch Video Solution

tan(A + B) = √3 and √3 tan(A − B) = 1

45. If , find the value of 

.

√3 tan 2θ = 3 and 0∘ < θ ≤ 90∘

3√3 cos θ + 2 sin θ − 6 tan2 θ

https://dl.doubtnut.com/l/_OEVRaWHuvhTP
https://dl.doubtnut.com/l/_SdqmfG7g8i3V
https://dl.doubtnut.com/l/_sYTIyn7hEiKN
https://dl.doubtnut.com/l/_LarSwly6IznV


Watch Video Solution

46. Solve for  : 


Watch Video Solution

θ(0∘ < θ < 90∘ )

sin2 θ − sin θ = 0
1

2

47. Solve for  : 


Watch Video Solution

θ(0∘ < θ < 90∘ )

2 sin2 θ − 2 cos θ =
1

2

48. Solve for  : 


.

Watch Video Solution

θ(0∘ < θ < 90∘ )

tan2 θ + 3 = 3 sec θ

https://dl.doubtnut.com/l/_LarSwly6IznV
https://dl.doubtnut.com/l/_3dbGm3WPjXKx
https://dl.doubtnut.com/l/_1YpDdfVPq5KV
https://dl.doubtnut.com/l/_oJYw0tgmmFX3


Exercise 23 A

1. Find the value of : 

Watch Video Solution

sin 30∘ cos 30∘

2. Find the value of : 

Watch Video Solution

tan 30∘ tan 60∘

3. Find the value of : 

Watch Video Solution

cos2 60∘ + sin2 30∘

https://dl.doubtnut.com/l/_c2eBW4Q63uRg
https://dl.doubtnut.com/l/_b3NA7Vkzhxqn
https://dl.doubtnut.com/l/_5WMmNjTWImR6
https://dl.doubtnut.com/l/_T7jJ65uCUMK3


4. Find the value of : 

Watch Video Solution

cos ec260∘ − tan2 30∘

5. Find the value of : 

Watch Video Solution

sin2 30∘ + cos2 30∘ + cot2 45∘

6. Find the value of : 

Watch Video Solution

cos2 60∘ + sec2 30∘ + tan2 45∘

https://dl.doubtnut.com/l/_T7jJ65uCUMK3
https://dl.doubtnut.com/l/_pHR8adXrVUlP
https://dl.doubtnut.com/l/_VNGKpIzAvoVN


7. Find the value of : 

Watch Video Solution

tan2 30∘ + tan2 45∘ + tan2 60∘

8. Find the value of : 

Watch Video Solution

+ −
tan 45∘

cos ec30∘

sec 60∘

cot 45∘

5sin 90∘

2cos 0∘

9. Find the value of : 

Watch Video Solution

3 sin2 30∘ + 2 tan2 60∘ − 5 cos2 45∘

https://dl.doubtnut.com/l/_n9FAumrBsG4y
https://dl.doubtnut.com/l/_ZoDsc4oFYjMS
https://dl.doubtnut.com/l/_55plJ5HvQK7l


10. Prove that : 

Watch Video Solution

sin 60∘ cos 30∘ + cos 60∘ . sin 30∘ = 1

11. Prove that : 

Watch Video Solution

cos 30∘ . cos 60∘ − sin 30∘ . sin 60∘ = 0

12. Prove that : 

Watch Video Solution

cos ec245∘ − cot2 45∘ = 1

https://dl.doubtnut.com/l/_hdm9o8mXx8V9
https://dl.doubtnut.com/l/_2XHGgJnLlnDT
https://dl.doubtnut.com/l/_cUEzmvWbww9k


13. Prove that : 

Watch Video Solution

cos2 30∘ − sin2 30∘ = cos 60∘

14. Prove that : 

Watch Video Solution

( )
2

=
tan 60∘ + 1

tan 60∘ − 1

1 + cos 30∘

1 − cos 30∘

15. Prove that : 

.

Watch Video Solution

3 cos ec260∘ − 2 cot2 30∘ + sec2 45∘ = 0

https://dl.doubtnut.com/l/_DxsUZAW1Kh5J
https://dl.doubtnut.com/l/_ZkOGBc7rr3fF
https://dl.doubtnut.com/l/_qRMWxkustnfP


16. Prove that : 

Watch Video Solution

sin(2 × 30∘ ) =
2tan 30∘

1 + tan2 30∘

17. Prove that : 

Watch Video Solution

cos(2 × 30∘ ) =
1 − tan2 30∘

1 + tan2 30∘

18. Prove that : 

Watch Video Solution

tan(2 × 30∘ ) =
2tan 30∘

1 − tan2 30∘

https://dl.doubtnut.com/l/_zP84Er8oUjt4
https://dl.doubtnut.com/l/_jYKAe1tEKFob
https://dl.doubtnut.com/l/_NMZygUmvCn2Z


19. ABC is an isosceles right-angled triangle. Assuming AB = BC = x,

find the value of each of the following trigonometric ratios : 

 

(i)  


(ii)  


(iii) 

Watch Video Solution

sin 45∘

cos 45∘

tan 45∘

https://dl.doubtnut.com/l/_0QmwyHnohhc6


20. Prove that : 

.

Watch Video Solution

sin 60∘ = 2sin 30∘ cos 30∘

21. Prove that : 

Watch Video Solution

4(sin4 30∘ + cos4 60∘ ) − 3(cos2 45∘ − sin2 90∘ ) = 2

22. If  and x is acute, state the value of x.

Watch Video Solution

sin x = cos x

23. If , state the value of A.

Watch Video Solution

sec A = cos ecA  and 0∘ ≤ A ≤ 90∘

https://dl.doubtnut.com/l/_H57Ve4NW9hxq
https://dl.doubtnut.com/l/_mq38K7fS0j5s
https://dl.doubtnut.com/l/_80xKDXXmryQ0
https://dl.doubtnut.com/l/_80TN4VgWvbiA


24. If , state the value of .

Watch Video Solution

tan θ = cot θ  and 0∘ ≤ θ ≤ 90∘ θ

25. If , write the relation between x and y, if both the

angles x and y are acute.

Watch Video Solution

sin x = cos y

26. If , then , write true or false.

Watch Video Solution

sin x = cos y x + y = 45∘

27. , write true or false.

Watch Video Solution

sec θ. cot θ = cos ecθ

https://dl.doubtnut.com/l/_80TN4VgWvbiA
https://dl.doubtnut.com/l/_KlcgvkjgUrwg
https://dl.doubtnut.com/l/_kiS75M0h3L9R
https://dl.doubtnut.com/l/_LVQcDaQs12oa
https://dl.doubtnut.com/l/_PXkI6iNrOAo5


28. For any angle , state the value of : 

.

Watch Video Solution

θ

        sin2 θ + cos2 θ

29. State for any acute angle  whether : 

 increases or decreases as  increases.

Watch Video Solution

θ

sin θ θ

30. State for any acute angle  whether : 

 increases or decreases as  increases.

Watch Video Solution

θ

cos θ θ

https://dl.doubtnut.com/l/_PXkI6iNrOAo5
https://dl.doubtnut.com/l/_NqqXUQOBbOa2
https://dl.doubtnut.com/l/_DCwVKWV3Hxwq
https://dl.doubtnut.com/l/_87YOvkUHtgE4


31. State for any acute angle  whether : 

 increases or decreases as  decreases.

Watch Video Solution

θ

tan θ θ

32. If , find (correct to two decimal places) the value of

the following 

Watch Video Solution

√3 = 1 ⋅ 732

sin 60∘

33. Evaluate : 

.

Watch Video Solution

,  when A = 15∘cos 3A − 3 cos 4A

sin 3A + 2 sin 4A

https://dl.doubtnut.com/l/_TTGQN6GVYyYm
https://dl.doubtnut.com/l/_55XFasTjUKVf
https://dl.doubtnut.com/l/_SY2xBbQe62Pp


34. Evaluate : 

, 


when .

Watch Video Solution

3 sin 3B + 2 cos(2B + 5∘ )

2 cos 3B − sin(2B − 10∘ )

B = 20∘

35. Find the value of : 

Watch Video Solution

sin 30∘ cos 30∘

36. Find the value of : 

Watch Video Solution

tan 30∘ tan 60∘

https://dl.doubtnut.com/l/_ksRQf3RmTFPJ
https://dl.doubtnut.com/l/_Q4S8pdfYV7bG
https://dl.doubtnut.com/l/_9CRezNKpfU6j


37. Find the value of : 

Watch Video Solution

cos2 60∘ + sin2 30∘

38. Find the value of : 

Watch Video Solution

cos ec260∘ − tan2 30∘

39. Find the value of : 

Watch Video Solution

sin2 30∘ + cos2 30∘ + cot2 45∘

https://dl.doubtnut.com/l/_m8AwdgwQfPx9
https://dl.doubtnut.com/l/_kBe7U2irZ3xV
https://dl.doubtnut.com/l/_XR0WyTn8rPIp


40. Find the value of : 

Watch Video Solution

cos2 60∘ + sec2 30∘ + tan2 45∘

41. Find the value of : 

Watch Video Solution

tan2 30∘ + tan2 45∘ + tan2 60∘

42. Find the value of : 

Watch Video Solution

+ −
tan 45∘

cos ec30∘

sec 60∘

cot 45∘

5sin 90∘

2cos 0∘

https://dl.doubtnut.com/l/_ryF5OVx85TiH
https://dl.doubtnut.com/l/_omWQb9Fp5Vcj
https://dl.doubtnut.com/l/_Co5i48K7VTbK


43. Find the value of : 

Watch Video Solution

3 sin2 30∘ + 2 tan2 60∘ − 5 cos2 45∘

44. Prove that : 

Watch Video Solution

sin 60∘ cos 30∘ + cos 60∘ . sin 30∘ = 1

45. Prove that : 

Watch Video Solution

cos 30∘ . cos 60∘ − sin 30∘ . sin 60∘ = 0

https://dl.doubtnut.com/l/_nfLuuwUW5x5Q
https://dl.doubtnut.com/l/_bKsoGhBeYTav
https://dl.doubtnut.com/l/_EYSyC8U21MxX


46. Prove that : 

Watch Video Solution

cos ec245∘ − cot2 45∘ = 1

47. Prove that : 

Watch Video Solution

cos2 30∘ − sin2 30∘ = cos 60∘

48. Prove that : 

Watch Video Solution

( )
2

=
tan 60∘ + 1

tan 60∘ − 1

1 + cos 30∘

1 − cos 30∘

https://dl.doubtnut.com/l/_f4M2NwfhIiYB
https://dl.doubtnut.com/l/_bzHcJJT0X4g0
https://dl.doubtnut.com/l/_pQk0fUzb4OHb


49. Prove that : 

.

Watch Video Solution

3 cos ec260∘ − 2 cot2 30∘ + sec2 45∘ = 0

50. Prove that : 

Watch Video Solution

sin(2 × 30∘ ) =
2tan 30∘

1 + tan2 30∘

51. Prove that : 

Watch Video Solution

cos(2 × 30∘ ) =
1 − tan2 30∘

1 + tan2 30∘

https://dl.doubtnut.com/l/_IcZz7SQc3GI3
https://dl.doubtnut.com/l/_qzS7AXpuKecr
https://dl.doubtnut.com/l/_2HKNZ5NbE4xs


52. Prove that : 

Watch Video Solution

tan(2 × 30∘ ) =
2tan 30∘

1 − tan2 30∘

53. ABC is an isosceles right-angled triangle. Assuming AB = BC = x,

find the value of each of the following trigonometric ratios : 

 

(i)  
sin 45∘

https://dl.doubtnut.com/l/_IsPioiJqiS14
https://dl.doubtnut.com/l/_8Nryp6aPDU0g


(ii)  


(iii) 

Watch Video Solution

cos 45∘

tan 45∘

54. Prove that : 

.

Watch Video Solution

sin 60∘ = 2sin 30∘ cos 30∘

55. Prove that : 

Watch Video Solution

4(sin4 30∘ + cos4 60∘ ) − 3(cos2 45∘ − sin2 90∘ ) = 2

56. If  and x is acute, state the value of x.

Watch Video Solution

sin x = cos x

https://dl.doubtnut.com/l/_8Nryp6aPDU0g
https://dl.doubtnut.com/l/_FqZ25i3iuhkE
https://dl.doubtnut.com/l/_4v1cl8sex6ve
https://dl.doubtnut.com/l/_TqexXQKASPi1


57. If , state the value of A.

Watch Video Solution

sec A = cos ecA  and 0∘ ≤ A ≤ 90∘

58. If , state the value of .

Watch Video Solution

tan θ = cot θ  and 0∘ ≤ θ ≤ 90∘ θ

59. If , write the relation between x and y, if both the

angles x and y are acute.

Watch Video Solution

sin x = cos y

60. If , then , write true or false.

Watch Video Solution

sin x = cos y x + y = 45∘

https://dl.doubtnut.com/l/_TqexXQKASPi1
https://dl.doubtnut.com/l/_HTLtWNi8DJys
https://dl.doubtnut.com/l/_T8xt2DGPl5Ss
https://dl.doubtnut.com/l/_Try0yqBxU4gR
https://dl.doubtnut.com/l/_agqKbc3H9f1O


Watch Video Solution

61. , write true or false.

Watch Video Solution

sec θ. cot θ = cos ecθ

62. For any angle , state the value of : 

.

Watch Video Solution

θ

        sin2 θ + cos2 θ

63. State for any acute angle  whether : 

 increases or decreases as  increases.

Watch Video Solution

θ

sin θ θ

https://dl.doubtnut.com/l/_agqKbc3H9f1O
https://dl.doubtnut.com/l/_WJCuVLVYVA83
https://dl.doubtnut.com/l/_TiZSqAC7CXSO
https://dl.doubtnut.com/l/_p8q8BQY1mCab


64. State for any acute angle  whether : 

 increases or decreases as  increases.

Watch Video Solution

θ

cos θ θ

65. State for any acute angle  whether : 

 increases or decreases as  decreases.

Watch Video Solution

θ

tan θ θ

66. If , find (correct to two decimal places) the value of

each of the following : 

(i) 

Watch Video Solution

√3 = 1 ⋅ 732

sin 60∘     (ii) 
2

tan 30∘

https://dl.doubtnut.com/l/_ztQHF9Ghei5x
https://dl.doubtnut.com/l/_VBQ2zwFergK4
https://dl.doubtnut.com/l/_3pDN4Ancr6QS


Exercise 23 B

67. Evaluate : 

.

Watch Video Solution

,  when A = 15∘cos 3A − 3 cos 4A

sin 3A + 2 sin 4A

68. Evaluate : 

, 


when .

Watch Video Solution

3 sin 3B + 2 cos(2B + 5∘ )

2 cos 3B − sin(2B − 10∘ )

B = 20∘

1. Given , prove that : 

Watch Video Solution

A = 60∘ and B = 30∘

sin(A + B) = sin A cos B + cos A sin B

https://dl.doubtnut.com/l/_2mQ8ch83jYLV
https://dl.doubtnut.com/l/_EAp8JKWnWv2p
https://dl.doubtnut.com/l/_YlPgqwu1xuUS


2. Given , prove that : 

Watch Video Solution

A = 60∘ and B = 30∘

cos(A + B) = cos A cos B − sin A sin B

3. Given , prove that : 

Watch Video Solution

A = 60∘ and B = 30∘

cos(A − B) = cos A cos B + sin A sin B

4. Given , prove that : 

Watch Video Solution

A = 60∘ and B = 30∘

tan(A − B) =
tan A − tan B

1 + tan A. tan B

https://dl.doubtnut.com/l/_YlPgqwu1xuUS
https://dl.doubtnut.com/l/_URHa01iSpIRI
https://dl.doubtnut.com/l/_oBrz7cC6q6Ud
https://dl.doubtnut.com/l/_ZuFkRQO4O0nx


5. If , then prove that : 


Watch Video Solution

A = 30∘

sin 2A = 2 sin A cos A =
2 tan A

1 + tan2 A

6. If , then prove that : 


 


Watch Video Solution

A = 30∘

cos 2A = cos2 A − sin2 A

       =
1 − tan2 A

1 + tan2 A

7. If , then prove that : 


Watch Video Solution

A = 30∘

2 cos2 A − 1 = 1 − 2 sin2 A

https://dl.doubtnut.com/l/_LyTF5kocfPTp
https://dl.doubtnut.com/l/_PpRGhJpQDMqJ
https://dl.doubtnut.com/l/_cYFKVN1tdDq1


8. If , then prove that : 


Watch Video Solution

A = 30∘

sin 3A = 3 sin A − 4 sin3 A

9. If , show that : 


Watch Video Solution

A = B = 45∘

sin(A − B) = sin A cos B − cos A sin B

10. If , show that : 


Watch Video Solution

A = B = 45∘

cos(A + B) = cos A cos B − sin A sin B

https://dl.doubtnut.com/l/_5GEHsnKdOM4G
https://dl.doubtnut.com/l/_msvorTdInKjx
https://dl.doubtnut.com/l/_YfAOf9eQJLfe


11. If , show that : 


Watch Video Solution

A = 30∘

sin 3A = 4 sin A sin(60∘ − A)sin(60∘ + A)

12. If , show that : 


Watch Video Solution

A = 30∘

(sin A − cos A)2 = 1 − sin 2A

13. If , show that : 


Watch Video Solution

A = 30∘

cos 2A = cos4 A − sin4 A

https://dl.doubtnut.com/l/_Wkj4O9nFg7NM
https://dl.doubtnut.com/l/_K0eWHYYc0p5r
https://dl.doubtnut.com/l/_VGLpc5RVsGdA


14. If , show that : 


Watch Video Solution

A = 30∘

= tan A
1 − cos 2A

sin 2A

15. If , show that : 


.

Watch Video Solution

A = 30∘

= 2 cos A
1 + sin 2A + cos 2A

sin A + cos A

16. If , show that : 


Watch Video Solution

A = 30∘

4 cos A cos(60∘ − A) ⋅ cos(60∘ + A) = cos 3A

https://dl.doubtnut.com/l/_ku1YmJnhNkax
https://dl.doubtnut.com/l/_yzwR78dveTdw
https://dl.doubtnut.com/l/_J7qCF3qVSRlm


17. If , show that : 


Watch Video Solution

A = 30∘

+ = 3
cos3 A − cos 3A

cos A

sin3 A + sin 3A

sin A

18. Given , prove that : 

Watch Video Solution

A = 60∘ and B = 30∘

sin(A + B) = sin A cos B + cos A sin B

19. Given , prove that : 

Watch Video Solution

A = 60∘ and B = 30∘

cos(A + B) = cos A cos B − sin A sin B

https://dl.doubtnut.com/l/_mwiQcFSgMUvr
https://dl.doubtnut.com/l/_cZBzJoyVJCPZ
https://dl.doubtnut.com/l/_7bNRjeZqTDAK


20. Given , prove that : 

Watch Video Solution

A = 60∘ and B = 30∘

cos(A − B) = cos A cos B + sin A sin B

21. Given , prove that : 

Watch Video Solution

A = 60∘ and B = 30∘

tan(A − B) =
tan A − tan B

1 + tan A. tan B

22. If , then prove that : 


Watch Video Solution

A = 30∘

sin 2A = 2 sin A cos A =
2 tan A

1 + tan2 A

https://dl.doubtnut.com/l/_FGxIGRqqEgvF
https://dl.doubtnut.com/l/_qhY9FX0B3DTP
https://dl.doubtnut.com/l/_FQ2d10I18XwL


23. If , then prove that : 


 


Watch Video Solution

A = 30∘

cos 2A = cos2 A − sin2 A

       =
1 − tan2 A

1 + tan2 A

24. If , then prove that : 


Watch Video Solution

A = 30∘

2 cos2 A − 1 = 1 − 2 sin2 A

25. If , then prove that : 


Watch Video Solution

A = 30∘

sin 3A = 3 sin A − 4 sin3 A

https://dl.doubtnut.com/l/_8zJhoX4wKzMO
https://dl.doubtnut.com/l/_BVDoWucknsCC
https://dl.doubtnut.com/l/_HkyVkmfLOnlo


26. If , show that : 


Watch Video Solution

A = B = 45∘

sin(A − B) = sin A cos B − cos A sin B

27. If , show that : 


Watch Video Solution

A = B = 45∘

cos(A + B) = cos A cos B − sin A sin B

28. If , show that : 


Watch Video Solution

A = 30∘

sin 3A = 4 sin A sin(60∘ − A)sin(60∘ + A)

https://dl.doubtnut.com/l/_me5gsKlX6QLN
https://dl.doubtnut.com/l/_tAtflCRXu8dq
https://dl.doubtnut.com/l/_SNbqhcrYcEwN


29. If , show that : 


Watch Video Solution

A = 30∘

(sin A − cos A)2 = 1 − sin 2A

30. If , show that : 


Watch Video Solution

A = 30∘

cos 2A = cos4 A − sin4 A

31. If , show that : 


Watch Video Solution

A = 30∘

= tan A
1 − cos 2A

sin 2A

https://dl.doubtnut.com/l/_mi66nU6dsoHu
https://dl.doubtnut.com/l/_DwuD8XoRju1W
https://dl.doubtnut.com/l/_MGtsyqlrlJmC


Exercise 23 C

32. If , show that : 


.

Watch Video Solution

A = 30∘

= 2 cos A
1 + sin 2A + cos 2A

sin A + cos A

33. If , show that : 


Watch Video Solution

A = 30∘

4 cos A cos(60∘ − A) ⋅ cos(60∘ + A) = cos 3A

34. If , show that : 


Watch Video Solution

A = 30∘

+ = 3
cos3 A − cos 3A

cos A

sin3 A + sin 3A

sin A

https://dl.doubtnut.com/l/_CSeioxeQRfWK
https://dl.doubtnut.com/l/_UpwkRaUbGrqr
https://dl.doubtnut.com/l/_1Ys3vax6oRqP


1. Solve the following equations for A, if : 

Watch Video Solution

2 sin A = 1

2. Solve the following equations for A, if : 

Watch Video Solution

2 cos 2A = 1

3. Solve the following equations for A, if : 

Watch Video Solution

sin 3A =
√3

2

https://dl.doubtnut.com/l/_hWDvcTmYmHkK
https://dl.doubtnut.com/l/_WK8fqOGqzz4p
https://dl.doubtnut.com/l/_I4xVfNGu2jrx


4. Solve the following equations for A, if : 

Watch Video Solution

sec 2A = 2

5. Solve the following equations for A, if : 

Watch Video Solution

√3 tan A = 1

6. Solve the following equations for A, if : 

Watch Video Solution

tan 3A = 1

https://dl.doubtnut.com/l/_zTVzZjYzUuaP
https://dl.doubtnut.com/l/_FFAhfUJXBmWp
https://dl.doubtnut.com/l/_qeOzaRgDNJcB


7. Solve the following equations for A, if : 

Watch Video Solution

2 sin 3A = 1

8. Solve the following equations for A, if : 

Watch Video Solution

√3 cot 2A = 1

9. Calculate the value of A, if : 

Watch Video Solution

(sin A − 1)(2 cos A − 1) = 0

https://dl.doubtnut.com/l/_V3dIh01i2Wns
https://dl.doubtnut.com/l/_0wVOillb9q9M
https://dl.doubtnut.com/l/_VO5K3aEBwiaV


10. Calculate the value of A, if : 

Watch Video Solution

(tan A − 1)(cos ec3A − 1) = 0

11. Calculate the value of A, if : 

Watch Video Solution

(sec 2A − 1)(cos ec3A − 1) = 0

12. Calculate the value of A, if : 

Watch Video Solution

cos 3A. (2 sin 2A − 1) = 0

https://dl.doubtnut.com/l/_KtLCJwAWViRK
https://dl.doubtnut.com/l/_uETcAi06djch
https://dl.doubtnut.com/l/_6Gr8EoSbxxk1


13. Calculate the value of A, if : 

Watch Video Solution

(cos ec2A − 2)(cot 3A − 1) = 0

14. If  is an acute angle, find: 


(i) b .

Watch Video Solution

2sin x ∘ − 1 = 0 and x ∘

sin x ∘   (ii) x ∘    (iii) cos x ∘ and tan x ∘

15. If , find : 

Watch Video Solution

4 cos2 x ∘ − 1 = 0 and 0 ≤ x ∘ ≤ 90∘

x ∘

https://dl.doubtnut.com/l/_WvEDyZi0hRrv
https://dl.doubtnut.com/l/_Z09IUAQNwZy6
https://dl.doubtnut.com/l/_wd9KoH3CUalN


16. If , find : 

Watch Video Solution

4 cos2 x ∘ − 1 = 0 and 0 ≤ x ∘ ≤ 90∘

sin2 x ∘ + cos2 x ∘

17. If , find : 

Watch Video Solution

4 cos2 x ∘ − 1 = 0 and 0 ≤ x ∘ ≤ 90∘

− tan2 x ∘1

cos2 x ∘

18. If  and angle  is less than , find the value of

 and hence the value of .

Watch Video Solution

4 sin2 θ − 1 = 0 θ 90∘

θ cos2 θ + tan2 θ

https://dl.doubtnut.com/l/_6GBbcjLzYRZN
https://dl.doubtnut.com/l/_1FtTJrAM1ZKz
https://dl.doubtnut.com/l/_FphkpafUh4hS


19. If , find : 


sin A

Watch Video Solution

sin 3A = 1 and 0 ≤ A ≤ 90∘

20. If , find : 


Watch Video Solution

sin 3A = 1 and 0 ≤ A ≤ 90∘

cos 2A

21. If , find : 


Watch Video Solution

sin 3A = 1 and 0 ≤ A ≤ 90∘

tan2 A −
1

cos2 A

https://dl.doubtnut.com/l/_Gj9KtWMNN5lG
https://dl.doubtnut.com/l/_YpY9qCpf9JdG
https://dl.doubtnut.com/l/_ydD9ycWpUkdT


22. If  and A is acute, find : 


A

Watch Video Solution

2 cos 2A = √3

23. If  and A is acute, find : 


sin 3A

Watch Video Solution

2 cos 2A = √3

24. If  and A is acute, find : 


Watch Video Solution

2 cos 2A = √3

sin2(75∘ − A) + cos2(45∘ + A)

25. If , find the value of y.sin x + cos y = 1  and x = 30∘

https://dl.doubtnut.com/l/_q1AMKWFDZnN7
https://dl.doubtnut.com/l/_7uV7eHa86Uhc
https://dl.doubtnut.com/l/_GloOX8VjPBTI
https://dl.doubtnut.com/l/_AMNw3H4qlXGc


Watch Video Solution

26. If , find the value of A.

Watch Video Solution

3 tan A − 5 cos B = √3 and B = 90∘

27. From the given figure, find : 

 

cos x ∘

https://dl.doubtnut.com/l/_AMNw3H4qlXGc
https://dl.doubtnut.com/l/_y67bV5NMv99R
https://dl.doubtnut.com/l/_SStltF1O9kBi


Watch Video Solution

28. From the given figure, find : 

 

Watch Video Solution

x ∘

https://dl.doubtnut.com/l/_SStltF1O9kBi
https://dl.doubtnut.com/l/_8yLkAh2YX3QP


29. From the given figure, find : 

 

Watch Video Solution

−
1

tan2 x ∘

1

sin2 x ∘

https://dl.doubtnut.com/l/_bYsy1Kd3AbI8


30. From the given figure, find : 

 

Use , to find the value of y.

Watch Video Solution

tan x ∘

https://dl.doubtnut.com/l/_F7BT5y6l32zu


31. Use the given figure to find : 

 

Watch Video Solution

tan θ
∘

https://dl.doubtnut.com/l/_us6Jo6pIpadg


32. Use the given figure to find : 

 

Watch Video Solution

θ ∘

https://dl.doubtnut.com/l/_ZGODirZtttRu


33. Use the given figure to find : 

 

Watch Video Solution

sin2 θ ∘ − cos2 θ ∘

https://dl.doubtnut.com/l/_tnmQbna8CnpF


34. Use the given figure to find : 

 

Watch Video Solution

θ ∘

35. Find the magnitude of angle A, if : 

Watch Video Solution

2 sin A cos A − cos A − 2 sin A + 1 = 0

https://dl.doubtnut.com/l/_Qy368r7BBqUR
https://dl.doubtnut.com/l/_iewFgj7ntSzY


36. Find the magnitude of angle A, if : 

Watch Video Solution

tan A − 2 cos A tan A + 2 cos A − 1 = 0

37. Find the magnitude of angle A, if : 

Watch Video Solution

2 cos2 A − 3 cos A + 1 = 0

38. Find the magnitude of angle A, if : 

Watch Video Solution

2 tan 3A cos 3A − tan 3A + 1 = 2 cos 3A

https://dl.doubtnut.com/l/_gjMEhfbUWDm6
https://dl.doubtnut.com/l/_XLJeBOwnPASH
https://dl.doubtnut.com/l/_1cQKUvSQmzKD


39. Solve for x : 

Watch Video Solution

2 cos 3x − 1 = 0

40. Solve for x : 

Watch Video Solution

cos − 1 = 0
x

3

41. Solve for x : 

Watch Video Solution

sin(x + 10∘ ) =
1

2

https://dl.doubtnut.com/l/_RwoCtOaBfgB4
https://dl.doubtnut.com/l/_oj9x451XkClA
https://dl.doubtnut.com/l/_CW7TcKqKB4tF


42. Solve for x : 

Watch Video Solution

cos(2x − 30∘ ) = 0

43. Solve for x : 

Watch Video Solution

2 cos(3x − 15∘ ) = 1

44. Solve for x : 

Watch Video Solution

tan2(x − 5∘ ) = 3

https://dl.doubtnut.com/l/_HhZRWD4vSMaa
https://dl.doubtnut.com/l/_RRVzVyJpWnba
https://dl.doubtnut.com/l/_7DNpO7pfHo4A


45. Solve for x : 

Watch Video Solution

3 tan2(2x − 20∘ ) = 1

46. Solve for x : 

Watch Video Solution

cos( + 10∘) =
x

2

√3

2

47. Solve for x : 

Watch Video Solution

sin2 x + sin2 30∘ = 1

https://dl.doubtnut.com/l/_cW2uNglVtabJ
https://dl.doubtnut.com/l/_8EohgLM3QytZ
https://dl.doubtnut.com/l/_ENoDPuHHhO2V


48. Solve for x : 

Watch Video Solution

cos2 30∘ + cos2 x = 1

49. Solve for x : 

Watch Video Solution

cos2 30∘ + sin2 2x = 1

50. Solve for x : 

Watch Video Solution

sin2 60∘ + cos2(3x − 9∘ ) = 1

https://dl.doubtnut.com/l/_dVNhP2J5MDHw
https://dl.doubtnut.com/l/_I0FS4paEwiG8
https://dl.doubtnut.com/l/_UoV854t6t1l0


51. If  is an acute angle, find the value of : 


x

Watch Video Solution

4 cos2 x = 3 and x

52. If  is an acute angle, find the value of : 


Watch Video Solution

4 cos2 x = 3 and x

cos2 x + cot2 x

53. If  is an acute angle, find the value of : 


Watch Video Solution

4 cos2 x = 3 and x

cos 3x

https://dl.doubtnut.com/l/_9D1UXceO5Dzm
https://dl.doubtnut.com/l/_EzsJRKIKsMjX
https://dl.doubtnut.com/l/_MB08jcIduIJM


54. If  is an acute angle, find the value of : 


Watch Video Solution

4 cos2 x = 3 and x

sin 2x

55. In , AC =

2 units and angle , find : 


Watch Video Solution

ΔABC, ∠B = 90∘ ), AB = y  units, BC = √3  units

A = x ∘

sin x ∘

56. In , AC =

2 units and angle , find : 


Watch Video Solution

ΔABC, ∠B = 90∘ ), AB = y  units, BC = √3  units

A = x ∘

x ∘

https://dl.doubtnut.com/l/_x7IP7gSkOPTH
https://dl.doubtnut.com/l/_1FlVx6Vv5U9n
https://dl.doubtnut.com/l/_7DvLbcwmEDCl
https://dl.doubtnut.com/l/_khCbpnAaorCI


57. In , AC =

2 units and angle , find : 


Watch Video Solution

ΔABC, ∠B = 90∘ ), AB = y  units, BC = √3  units

A = x ∘

tan x ∘

58. In , AC =

2 units and angle , find : 


use  to find the value of y.

Watch Video Solution

ΔABC, ∠B = 90∘ ), AB = y  units, BC = √3  units

A = x ∘

cos x ∘

59. If , find the values of A and B.

Watch Video Solution

2 cos(A + B) = 2 sin(A − B) = 1

https://dl.doubtnut.com/l/_khCbpnAaorCI
https://dl.doubtnut.com/l/_tdsA42J4FTBg
https://dl.doubtnut.com/l/_OUvz2Vf0VppY


60. Solve the following equations for A, if : 

Watch Video Solution

2 sin A = 1

61. Solve the following equations for A, if : 

Watch Video Solution

2 cos 2A = 1

62. Solve the following equations for A, if : 

Watch Video Solution

sin 3A =
√3

2

https://dl.doubtnut.com/l/_RepA3Mdrwkso
https://dl.doubtnut.com/l/_hlI5nQMEJlLj
https://dl.doubtnut.com/l/_7S9ecgifi44s


63. Solve the following equations for A, if : 

Watch Video Solution

sec 2A = 2

64. Solve the following equations for A, if : 

Watch Video Solution

√3 tan A = 1

65. Solve the following equations for A, if : 

Watch Video Solution

tan 3A = 1

https://dl.doubtnut.com/l/_QWv93WDWNAqt
https://dl.doubtnut.com/l/_bjdIiOrV6d6u
https://dl.doubtnut.com/l/_r0dqRTBKB57X


66. Solve the following equations for A, if : 

Watch Video Solution

2 sin 3A = 1

67. Solve the following equations for A, if : 

Watch Video Solution

√3 cot 2A = 1

68. Calculate the value of A, if : 

Watch Video Solution

(sin A − 1)(2 cos A − 1) = 0

https://dl.doubtnut.com/l/_Bnv8ScLgmGCw
https://dl.doubtnut.com/l/_yBk6YOov9MuL
https://dl.doubtnut.com/l/_nLB8vszMn9qg


69. Calculate the value of A, if : 

Watch Video Solution

(tan A − 1)(cos ec3A − 1) = 0

70. Calculate the value of A, if : 

Watch Video Solution

(sec 2A − 1)(cos ec3A − 1) = 0

71. Calculate the value of A, if : 

Watch Video Solution

cos 3A. (2 sin 2A − 1) = 0

https://dl.doubtnut.com/l/_oQRjlI8hH1E9
https://dl.doubtnut.com/l/_U6uDtKXrjoS6
https://dl.doubtnut.com/l/_0OL2rWWcGGdw


72. Calculate the value of A, if : 

Watch Video Solution

(cos ec2A − 2)(cot 3A − 1) = 0

73. If  is an acute angle, find: 


(i) b .

Watch Video Solution

2sin x ∘ − 1 = 0 and x ∘

sin x ∘   (ii) x ∘    (iii) cos x ∘ and tan x ∘

74. If , find : 

Watch Video Solution

4 cos2 x ∘ − 1 = 0 and 0 ≤ x ∘ ≤ 90∘

x ∘

https://dl.doubtnut.com/l/_I1XqJFAgqYlm
https://dl.doubtnut.com/l/_053tvc8XkPCD
https://dl.doubtnut.com/l/_KnUTtXxRklwa


75. If , find : 


Watch Video Solution

4 cos2 x( ∘ ) − 1 = 0 and 0 ≤ x ∘ ≤ 90∘

sin2 x ∘ + cos2 x ∘

76. If , find : 


Watch Video Solution

4 cos2 x( ∘ ) − 1 = 0 and 0 ≤ x ∘ ≤ 90∘

− tan2 x ∘1

cos2 x ∘

77. If  and angle  is less than , find the value of

 and hence the value of .

Watch Video Solution

4 sin2 θ − 1 = 0 θ 90∘

θ cos2 θ + tan2 θ

https://dl.doubtnut.com/l/_WCvfKrMuMSVo
https://dl.doubtnut.com/l/_DSdhnYOwKkep
https://dl.doubtnut.com/l/_LnHJRjMxfPtR


78. If , find : 


sin A

Watch Video Solution

sin 3A = 1 and 0 ≤ A ≤ 90∘

79. If , find : 


Watch Video Solution

sin 3A = 1 and 0 ≤ A ≤ 90∘

cos 2A

80. If , find : 


Watch Video Solution

sin 3A = 1 and 0 ≤ A ≤ 90∘

tan2 A −
1

cos2 A

https://dl.doubtnut.com/l/_EtdJFxT7Xlyr
https://dl.doubtnut.com/l/_24LpVPFR8r2l
https://dl.doubtnut.com/l/_YrmNdzUmfSyP


81. If  and A is acute, find : 


A

Watch Video Solution

2 cos 2A = √3

82. If  and A is acute, find : 


sin 3A

Watch Video Solution

2 cos 2A = √3

83. If  and A is acute, find : 


Watch Video Solution

2 cos 2A = √3

sin2(75∘ − A) + cos2(45∘ + A)

84. If , find the value of y.sin x + cos y = 1  and x = 30∘

https://dl.doubtnut.com/l/_2NMM7mohBDWL
https://dl.doubtnut.com/l/_QyECVPhiMAXd
https://dl.doubtnut.com/l/_CnPeu5IBWOOd
https://dl.doubtnut.com/l/_BBIxC9p5KZPJ


Watch Video Solution

85. If , find the value of A.

Watch Video Solution

3 tan A − 5 cos B = √3 and B = 90∘

86. From the given figure, find : 

 

cos x ∘

https://dl.doubtnut.com/l/_BBIxC9p5KZPJ
https://dl.doubtnut.com/l/_C6bG3aRE2BVj
https://dl.doubtnut.com/l/_Pjgp1HkgsQlv


Watch Video Solution

87. From the given figure, find : 

 

Watch Video Solution

x ∘

https://dl.doubtnut.com/l/_Pjgp1HkgsQlv
https://dl.doubtnut.com/l/_fvA1eiWj2Dq2


88. From the given figure, find : 

 

Watch Video Solution

−
1

tan2 x ∘

1

sin2 x ∘

https://dl.doubtnut.com/l/_acs6ONjsBkMv


89. From the given figure, find : 

 

Use , to find the value of y.

Watch Video Solution

tan x ∘

https://dl.doubtnut.com/l/_cwofLRYK15kz


90. Use the given figure to find : 

 

Watch Video Solution

tan θ
∘

https://dl.doubtnut.com/l/_L9gRh7sgObYO


91. Use the given figure to find : 

 

Watch Video Solution

θ ∘

https://dl.doubtnut.com/l/_SzDNO6dc6yiQ


92. Use the given figure to find : 

 

Watch Video Solution

sin2 θ ∘ − cos2 θ ∘

https://dl.doubtnut.com/l/_eP9aOJ6Y7ZJm


93. Use the given figure to find : 

 

Use  to find the value of x.

Watch Video Solution

sin θ
∘

94. Find the magnitude of angle A, if : 

Watch Video Solution

2 sin A cos A − cos A − 2 sin A + 1 = 0

https://dl.doubtnut.com/l/_E3Xpd12jubdt
https://dl.doubtnut.com/l/_T1vMm4tvUlK7


95. Find the magnitude of angle A, if : 

Watch Video Solution

tan A − 2 cos A tan A + 2 cos A − 1 = 0

96. Find the magnitude of angle A, if : 

Watch Video Solution

2 cos2 A − 3 cos A + 1 = 0

97. Find the magnitude of angle A, if : 

Watch Video Solution

2 tan 3A cos 3A − tan 3A + 1 = 2 cos 3A

https://dl.doubtnut.com/l/_HXiePX2xnkJs
https://dl.doubtnut.com/l/_Y3ol7eo1uznS
https://dl.doubtnut.com/l/_K9Nu3E4O6PWA


98. Solve for x : 

Watch Video Solution

2 cos 3x − 1 = 0

99. Solve for x : 

Watch Video Solution

cos − 1 = 0
x

3

100. Solve for x : 

Watch Video Solution

sin(x + 10∘ ) =
1

2

https://dl.doubtnut.com/l/_bQ9gTLSxlwqN
https://dl.doubtnut.com/l/_KyLTVrOPFdfe
https://dl.doubtnut.com/l/_ehui9CqKzCHI


101. Solve for x : 

Watch Video Solution

cos(2x − 30∘ ) = 0

102. Solve for x : 

Watch Video Solution

2 cos(3x − 15∘ ) = 1

103. Solve for x : 

Watch Video Solution

tan2(x − 5∘ ) = 3

https://dl.doubtnut.com/l/_FBiMdRR1RvLW
https://dl.doubtnut.com/l/_6QiNMI6cDFeL
https://dl.doubtnut.com/l/_UBkolANGWW2w


104. Solve for x : 

Watch Video Solution

3 tan2(2x − 20∘ ) = 1

105. Solve for x : 

Watch Video Solution

cos( + 10∘) =
x

2

√3

2

106. Solve for x : 

Watch Video Solution

sin2 x + sin2 30∘ = 1

https://dl.doubtnut.com/l/_4jMw7RMEPkgB
https://dl.doubtnut.com/l/_6sMaIa4bMBuh
https://dl.doubtnut.com/l/_XSVHSN5M578j


107. Solve for x : 

Watch Video Solution

cos2 30∘ + cos2 x = 1

108. Solve for x : 

Watch Video Solution

cos2 30∘ + sin2 2x = 1

109. Solve for x : 

Watch Video Solution

sin2 60∘ + cos2(3x − 9∘ ) = 1

https://dl.doubtnut.com/l/_HFYU9keveUud
https://dl.doubtnut.com/l/_Nrxa8KaZEv7W
https://dl.doubtnut.com/l/_ZuCRPklnsl06


110. If  is an acute angle, find the value of : 


x

Watch Video Solution

4 cos2 x = 3 and x

111. If  is an acute angle, find the value of : 


Watch Video Solution

4 cos2 x = 3 and x

cos2 x + cot2 x

112. If  is an acute angle, find the value of : 


Watch Video Solution

4 cos2 x = 3 and x

cos 3x

https://dl.doubtnut.com/l/_mXc2e9OYC0d8
https://dl.doubtnut.com/l/_jfJs70ysdAFu
https://dl.doubtnut.com/l/_r9VmN4gxzOVC


113. If  is an acute angle, find the value of : 


Watch Video Solution

4 cos2 x = 3 and x

sin 2x

114. In , AC

= 2 units and angle , find : 


Watch Video Solution

ΔABC, ∠B = 90∘ ), AB = y  units, BC = √3  units

A = x ∘

sin x ∘

115. In , AC =

2 units and angle , find : 


Watch Video Solution

ΔABC, ∠B = 90∘ ), AB = y  units, BC = √3  units

A = x ∘

x ∘

https://dl.doubtnut.com/l/_QPYOqNVfCNyh
https://dl.doubtnut.com/l/_4janv95QAbuA
https://dl.doubtnut.com/l/_19SZe6kcgLnd
https://dl.doubtnut.com/l/_sppcMkpeazIi


Question

116. In , AC =

2 units and angle , find : 


Watch Video Solution

ΔABC, ∠B = 90∘ ), AB = y  units, BC = √3  units

A = x ∘

x ∘

117. In , AC =

2 units and angle , find : 


use  to find the value of y.

Watch Video Solution

ΔABC, ∠B = 90∘ ), AB = y  units, BC = √3  units

A = x ∘

cos x ∘

118. If , find the values of A and B.

Watch Video Solution

2 cos(A + B) = 2 sin(A − B) = 1

https://dl.doubtnut.com/l/_sppcMkpeazIi
https://dl.doubtnut.com/l/_bNLAS9V5NODi
https://dl.doubtnut.com/l/_CTUgwHOC0BfO


1. From the given figure , find : 

 

Watch Video Solution

sin A

2. From the given figure , find : 

 

cos C

Watch Video Solution

https://dl.doubtnut.com/l/_62L3RiIr9hyf
https://dl.doubtnut.com/l/_qeeBUO22qFr5
https://dl.doubtnut.com/l/_fRhYVPFtDI29


3. From the given figure , find : 

 

tan A

Watch Video Solution

4. From the given figure , find : 

 

Watch Video Solution

cosecC

https://dl.doubtnut.com/l/_fRhYVPFtDI29
https://dl.doubtnut.com/l/_WyMoA28JciKG


5. From the given figure , find : 

 

Watch Video Solution

sec2 A − tan2 A

6. In a right - angled triangle , if angle A is acute and cot  ,

find the remaning trigonometrical ratios.

Watch Video Solution

A =
4

3

https://dl.doubtnut.com/l/_gpc9p0jr67md
https://dl.doubtnut.com/l/_YBJxzXrRbPI9


7. Given 13 sin A = 12 , find : 

sec A - tan A

Watch Video Solution

8. Given 13 sin A = 12 , find : 

Watch Video Solution

− tan2 A
1

cos2 A

9. In the given figure , ABC in a right - angled triangle , right - angled

at B. If BC = 5 cm and AC - AB = 1 cm , find the value of cosec A and

cos A . 

Watch Video Solution

https://dl.doubtnut.com/l/_QcjkMq8jJfkh
https://dl.doubtnut.com/l/_ivYD6n3QQ6vI
https://dl.doubtnut.com/l/_FrZmlnTCBzM2
https://dl.doubtnut.com/l/_pJhykWIcfVJ9


10. For the given figure, if  , find the

length of BD. 

Watch Video Solution

cos α = and cos β =
5

13

3

5

11. In a triangle ABC , AP is perpendicular to BC . If BC = 112 cm , cot B

 and cot C  , calculate the length of AP

Watch Video Solution

=
4
3

=
12

5

12. In rhombus ABCD , diagonal AC = 18 cm , the angle between

diagonal BD and side AB is  such that . Find the

diagonal BD and the perimeter of rhombus ABCD.

Watch Video Solution

α cos α = 0.8

https://dl.doubtnut.com/l/_pJhykWIcfVJ9
https://dl.doubtnut.com/l/_3XvuhbaI60v9
https://dl.doubtnut.com/l/_Wy4QF9BgGM3t
https://dl.doubtnut.com/l/_JSoF243sJgoG


13. If  , find the values of  [Given 

 ]

Watch Video Solution

cos θ =
2x

1 + x2
sin θ and cot θ

x2 < 1

14. From the adjoning figure, find : 

 

Watch Video Solution

tan x ∘

https://dl.doubtnut.com/l/_JSoF243sJgoG
https://dl.doubtnut.com/l/_qOCSLkv9DXQT


15. From the adjoning figure, find : 

Watch Video Solution

sin y∘

16. From the adjoning figure, find : 

 

Watch Video Solution

cos y∘

https://dl.doubtnut.com/l/_V1EuBjLKoKbB
https://dl.doubtnut.com/l/_n8uWWe5ZqDTS
https://dl.doubtnut.com/l/_09Ghcv9Ap8Tu


17. In the adjoining figure, triangle ABC is right - angled at B and BD

is perpendicular to AC . Find : 

 

Watch Video Solution

cos∠ABD

18. In the adjoining figure, triangle ABC is right - angled at B and BD

is perpendicular to AC . Find : 

 

Watch Video Solution

∠DBC

19. In , right - angled at B , AC = 20 cm and  ,

calculate the measures of AB and BC.

ΔABC tan∠ACB =
3

4

https://dl.doubtnut.com/l/_09Ghcv9Ap8Tu
https://dl.doubtnut.com/l/_KA1mNaJtCox3
https://dl.doubtnut.com/l/_hIiybTgtknnv


Watch Video Solution

20. If  , find the value of 

Watch Video Solution

tan θ + cot θ = 2 tan2 θ + cot2 θ

21. In the given figure ,  and BD = DC Find : 


 

Watch Video Solution

∠C = 90∘

cot∠ABC

cot∠ADC

https://dl.doubtnut.com/l/_hIiybTgtknnv
https://dl.doubtnut.com/l/_TZtlFvYXYbkl
https://dl.doubtnut.com/l/_VUr31EplNI6W


22. In the given figure ,  and BD = DC Find : 


 

Watch Video Solution

∠C = 90∘

cot∠DAC

cot∠BAC

23. If 3 sin A = 4 cos A , find the value of : 

sin A

Watch Video Solution

https://dl.doubtnut.com/l/_S3JkMSduImMu
https://dl.doubtnut.com/l/_kxhweTjnukep
https://dl.doubtnut.com/l/_CyV7Hlijnj7e


Exercise 22 A

24. If 3 sin A = 4 cos A , find the value of : 

cos A

Watch Video Solution

25. If 3 sin A = 4 cos A , find the value of : 

Watch Video Solution

tan2 A − sec2 A

26. If 5 tan , find the value of : 

Watch Video Solution

θ = 4
8 sin θ − 3 cos θ

8 sin θ + 2 cos θ

https://dl.doubtnut.com/l/_CyV7Hlijnj7e
https://dl.doubtnut.com/l/_mlhVYJcHpGQL
https://dl.doubtnut.com/l/_RL30Y2CaQhPz


1. From the following figure, find the values of : 

 

sin A

Watch Video Solution

2. From the following figure, find the values of : 

 

cos A

Watch Video Solution

https://dl.doubtnut.com/l/_69FwAYD4RxWo
https://dl.doubtnut.com/l/_YCDVpXes9Tix


3. From the following figure, find the values of : 

 

cot A

Watch Video Solution

4. From the following figure, find the values of : 

 sec C

Watch Video Solution

https://dl.doubtnut.com/l/_YCDVpXes9Tix
https://dl.doubtnut.com/l/_lLD54hhnwQ8l
https://dl.doubtnut.com/l/_ObCqyk9MVgQL
https://dl.doubtnut.com/l/_gx8tpZ9xHZAL


5. From the following figure, find the values of : 

cosec C

Watch Video Solution

6. From the following figure, find the values of : 

 tan C

Watch Video Solution

https://dl.doubtnut.com/l/_gx8tpZ9xHZAL
https://dl.doubtnut.com/l/_u7nbqtzeRXfD


7. From the following figure, find the values of : 

 

cos B

Watch Video Solution

8. From the following figure, find the values of : 

 tan C

Watch Video Solution

https://dl.doubtnut.com/l/_mAb3p3og1NIl
https://dl.doubtnut.com/l/_XMebuNhz73Vm


9. From the following figure, find the values of : 

 

Watch Video Solution

sin2 B + cos2 B

https://dl.doubtnut.com/l/_yq5F8vIIPKlY


10. From the following figure, find the values of : 

 

Watch Video Solution

sin B. cos C + cos B. sin C

11. From the following figure, find the values of : 

 

https://dl.doubtnut.com/l/_XB8nMsD8TCpV
https://dl.doubtnut.com/l/_3fOzAWqRt2mA


cos A

Watch Video Solution

12. From the following figure, find the values of : 

 cosec A

Watch Video Solution

13. From the following figure, find the values of : 

 

tan2 A − sec2 A

https://dl.doubtnut.com/l/_3fOzAWqRt2mA
https://dl.doubtnut.com/l/_ZACfWTSyVsJZ
https://dl.doubtnut.com/l/_mh6PQxUywod0


Watch Video Solution

14. From the following figure, find the values of : 

sin C

Watch Video Solution

15. From the following figure, find the values of : 

 

https://dl.doubtnut.com/l/_mh6PQxUywod0
https://dl.doubtnut.com/l/_etoScHfPISq0
https://dl.doubtnut.com/l/_eyxS6PCAjb0G


sec C

Watch Video Solution

16. From the following figure, find the values of : 

 

Watch Video Solution

cot2 C −
1

sin2 C

17. From the following figure , find the values of : 

sin B 

https://dl.doubtnut.com/l/_eyxS6PCAjb0G
https://dl.doubtnut.com/l/_E619nUyx3UBg
https://dl.doubtnut.com/l/_8vnu3e90cuZY


Watch Video Solution

18. From the following figure , find the values of : 

tan C 

Watch Video Solution

19. From the following figure , find the values of : 

 sec2 B − tan2 B

https://dl.doubtnut.com/l/_8vnu3e90cuZY
https://dl.doubtnut.com/l/_2TBlqSDRTMJp
https://dl.doubtnut.com/l/_g9JupLw8HW8d


Watch Video Solution

20. From the following figure , find the values of : 

 

Watch Video Solution

sin2 C + cos2 C

https://dl.doubtnut.com/l/_g9JupLw8HW8d
https://dl.doubtnut.com/l/_9wxqcTJNWhyU


21. Given :  , find : 


tan A

Watch Video Solution

sin A =
3

5

22. Given :  , find : 


cos A

Watch Video Solution

sin A =
3

5

https://dl.doubtnut.com/l/_kEMALHuNggRv
https://dl.doubtnut.com/l/_m2t0ZSTURajd


23. From the following figure , find the values of : 

sin A

Watch Video Solution

https://dl.doubtnut.com/l/_DaWVobUhk3LY


24. From the following figure , find the values of : 

 sec A

Watch Video Solution

https://dl.doubtnut.com/l/_AOlgaFcYDOQ5


25. From the following figure , find the values of : 

Watch Video Solution

cos2 A + sin2 A

26. Given :  evaluate : 


Watch Video Solution

cos A =
5

13
sin A − cot A

2 tan A

https://dl.doubtnut.com/l/_jLr6IiIisLQb
https://dl.doubtnut.com/l/_w4ZeK67ZxzfR


27. Given :  evaluate : 


Watch Video Solution

cos A =
5

13

cot A +
1

cos A

28. Given :  , evaluate : 

Watch Video Solution

sec A =
29

21
sin A −

1

tan A

29. Given :  , find : 

Watch Video Solution

tan A =
4
3

cosecA

cot A − sec A

30. Given :  , find : 


sinA

Watch Video Solution

4 cot A = 3

https://dl.doubtnut.com/l/_DLCrHMp1zeir
https://dl.doubtnut.com/l/_KhpYXigP8YEw
https://dl.doubtnut.com/l/_gDfOzOFb6vUF
https://dl.doubtnut.com/l/_du8BFQkmNXYw


31. Given :  , find : 


sec A

Watch Video Solution

4 cot A = 3

32. Given :  , find : 


Watch Video Solution

4 cot A = 3

cosec2A − cot2 A

33. Given : cos A = 0.6 , find all other trigono- metrical ratios for

angle A.

Watch Video Solution

https://dl.doubtnut.com/l/_du8BFQkmNXYw
https://dl.doubtnut.com/l/_CTuOvae6f3wq
https://dl.doubtnut.com/l/_zS91QuQWoTGc
https://dl.doubtnut.com/l/_rxmKfz3SMLjA


34. In a right - angled triangle , it is given that A is an acute angle

and  


cos A

Watch Video Solution

tan A =
5

12

35. In a right - angled triangle , it is given that A is an acute angle

and  


sin A

Watch Video Solution

tan A =
5

12

36. In a right - angled triangle , it is given that A is an acute angle

and  


Watch Video Solution

tan A =
5

12
cos A + sin A

cos A − sin A

https://dl.doubtnut.com/l/_aXJy4QbMbCF0
https://dl.doubtnut.com/l/_Ogn6Gh2O9yHv
https://dl.doubtnut.com/l/_COooFKM8qtKF


37. Given :  , find  in terms of p and q.

Watch Video Solution

sin θ =
p

q
cos θ + sin θ

38. If  , find the value of : 

 : Here angles A and B from different right triangle

.

Watch Video Solution

cos A = and sin B =
1

2

1

√2
tan A − tan B

1 + tan A tan B

39. If 5 cot  , find the value of : 

Watch Video Solution

θ = 12 cosecθ + sec θ

40. If  , find the value of : tan x = 1
1

3
4 sin2 x − 3 cos2 x + 2

https://dl.doubtnut.com/l/_COooFKM8qtKF
https://dl.doubtnut.com/l/_X2jvxfAL3eyF
https://dl.doubtnut.com/l/_Mg5Rcas82SJU
https://dl.doubtnut.com/l/_BoZ6NOPqXZMd
https://dl.doubtnut.com/l/_SRXCE7F7fyJO


Watch Video Solution

41. If  , find the value of : 


Watch Video Solution

cosecθ = √5

2 − sin2 θ − cos2 θ

42. If  , find the value of : 


Watch Video Solution

cosecθ = √5

2 + −
1

sin2 θ

cos2 θ

sin2 θ

43. If  , find the value of : 

Watch Video Solution

sec A = √2

3 cos2 A + 5 tan2 A

4 tan2 A − sin2 A

https://dl.doubtnut.com/l/_SRXCE7F7fyJO
https://dl.doubtnut.com/l/_ahdanSOyqOKx
https://dl.doubtnut.com/l/_u3GPTcRRx08h
https://dl.doubtnut.com/l/_uXm0LSpWb1c7


44. If  , find the value of : 

Watch Video Solution

cot θ = 1 5 tan2 θ + 2 sin2 θ − 3

45. In the following figure , 

Find the vlaue of : 

cot x 

Watch Video Solution

AD ⊥ BC, AC = 26, CD = 10, BC = 42, ∠DAC = x and ∠B = y

46. In the following figure , 

Find the vlaue of : 

AD ⊥ BC, AC = 26, CD = 10, BC = 42, ∠DAC = x and ∠B = y

https://dl.doubtnut.com/l/_nxJRByoD4BoQ
https://dl.doubtnut.com/l/_tWUAdokR0GeL
https://dl.doubtnut.com/l/_Yu7bfQcOvNrH


Exercise 22 B

 


Watch Video Solution

−
1

sin2 y

1

tan2 y

47. In the following figure , 

Find the vlaue of : 

 

Watch Video Solution

AD ⊥ BC, AC = 26, CD = 10, BC = 42, ∠DAC = x and ∠B = y

− + 8 tan y.
6

cos x

5

cos y

https://dl.doubtnut.com/l/_Yu7bfQcOvNrH
https://dl.doubtnut.com/l/_SjQcxmoRV8CC


1. From the following figure, find : 

 

y

Watch Video Solution

2. From the following figure, find : 

 

Watch Video Solution

sin x ∘

https://dl.doubtnut.com/l/_2tQx0nVRQCWS
https://dl.doubtnut.com/l/_YUP2AesCoZWd


3. From the following figure, find : 

 

Watch Video Solution

(sec x ∘ − tan x ∘ )(sec x ∘ + tan x ∘ )

https://dl.doubtnut.com/l/_YUP2AesCoZWd
https://dl.doubtnut.com/l/_iOG785XTW998


4. Use the given figure to find : 

 

Watch Video Solution

sin x ∘

5. Use the given figure to find : 

Watch Video Solution

cos y∘

https://dl.doubtnut.com/l/_8x3VYiSWNjDh
https://dl.doubtnut.com/l/_3uVW44PYlOro


6. Use the given figure to find : 

 

Watch Video Solution

3 tan∘ − 2sin y∘ + 4cos y∘

7. In the diagram, given below, triangle ABC is right - angled at B and

BD is perpendicular to AC Find : 

https://dl.doubtnut.com/l/_3uVW44PYlOro
https://dl.doubtnut.com/l/_ao3PxHAMcMbP
https://dl.doubtnut.com/l/_YJgoQIo3jE8c


 


Watch Video Solution

cos∠DBC

8. In the diagram, given below, triangle ABC is right - angled at B and

BD is perpendicular to AC Find : 

https://dl.doubtnut.com/l/_YJgoQIo3jE8c
https://dl.doubtnut.com/l/_mqNjbaNRdoL2


 

Watch Video Solution

cot∠DBA

9. In the given figure, triangle ABC is right angled at B. D is the foot

of the perpendicular from B to AC. Given that BC = 3 cm and AB = 4

cm. Find : 

https://dl.doubtnut.com/l/_mqNjbaNRdoL2
https://dl.doubtnut.com/l/_7ALXNxwZzz0f


 

Watch Video Solution

tan∠DBC

10. In the given figure, triangle ABC is right angled at B. D is the foot

of the perpendicular from B to AC. Given that BC = 3 cm and AB = 4

cm. Find : 

 

Watch Video Solution

sin∠DBA

https://dl.doubtnut.com/l/_7ALXNxwZzz0f
https://dl.doubtnut.com/l/_NzHOUsxnK6P5


Watch Video Solution

11. In triangle ABC, AB = AC = 15 cm and BC = 18 cm, find cos 

Watch Video Solution

∠ABC

12. In the figure, given below, ABC is an isosceles triangle with BC = 8

cm and AB = AC = 5 cm. Find : 

 

sin B

Watch Video Solution

13. In the figure, given below, ABC is an isosceles triangle with BC = 8

cm and AB = AC = 5 cm. Find : 

 

tan C

https://dl.doubtnut.com/l/_NzHOUsxnK6P5
https://dl.doubtnut.com/l/_Jb3DdfaCxFtE
https://dl.doubtnut.com/l/_GvTsnhBvCKlf
https://dl.doubtnut.com/l/_aZhlB09bClSh


Watch Video Solution

14. In the figure, given below, ABC is an isosceles triangle with BC = 8

cm and AB = AC = 5 cm. Find : 

 

Watch Video Solution

sin2 B + cos2 B

15. In the figure, given below, ABC is an isosceles triangle with BC = 8

cm and AB = AC = 5 cm. Find : 

https://dl.doubtnut.com/l/_aZhlB09bClSh
https://dl.doubtnut.com/l/_jORa3AkCbuJ0
https://dl.doubtnut.com/l/_DGtJTLeUC7uv


 

Watch Video Solution

tan C − cot B

16. In triangle ABC ,

. Find

the measures of AB and AC.

Watch Video Solution

∠ABC = 90∘ , ∠CAB = x ∘ , tan x ∘ = and BC = 15cm
3

4

https://dl.doubtnut.com/l/_DGtJTLeUC7uv
https://dl.doubtnut.com/l/_MWiFhuZk813q


17. Using the measurements given in the following figure : 

Find the value of sin  and tan  

Watch Video Solution

ϕ θ

18. Using the measurements given in the following figure : 

Write an expression for AD in terms of  

Watch Video Solution

θ

https://dl.doubtnut.com/l/_CbJAvl8g0HQj
https://dl.doubtnut.com/l/_k4YC4lio4iMt
https://dl.doubtnut.com/l/_uxVSTKChEHkK


19. In the given figure, BC=15 cm and sin B =  . 


Calculate the measures of AB and AC. 

 

Also , show that : 

Watch Video Solution

4
5

tan2 B − = − 1
1

cos2 B

20. In the given figure, BC=15 cm and sin B =  . 


Now, if tan , calculate the measures of CD and AD. 

 

Also , show that : 

Watch Video Solution

4
5

∠ADC = 1

tan2 B − = − 1
1

cos2 B

21. If sin A + cosec A = 2, 

find the value of .

Watch Video Solution

sin2 A + cosec2A

https://dl.doubtnut.com/l/_uxVSTKChEHkK
https://dl.doubtnut.com/l/_2af2v3UDEMuc
https://dl.doubtnut.com/l/_L6DthW8qD8dB


22. If tan A + cot A = 5, find the value of .

Watch Video Solution

tan2 A + cot2 A

23. Given :  , find the value of: 


Watch Video Solution

4 sin θ = 3 cos θ

sin θ

24. Given :  , find the value of: 


Watch Video Solution

4 sin θ = 3 cos θ

cos θ

https://dl.doubtnut.com/l/_L6DthW8qD8dB
https://dl.doubtnut.com/l/_8YcgFYMPppc1
https://dl.doubtnut.com/l/_YVCpMt8lwOSW
https://dl.doubtnut.com/l/_W6JQ3rbEDmPT


25. Given :  , find the value of: 


Watch Video Solution

4 sin θ = 3 cos θ

cot2 θ − cosec2θ

26. Given :  , find the value of: 


Watch Video Solution

4 sin θ = 3 cos θ

4 cos2 θ − 3 sin2 θ + 2

27. Given : , find the value of .

Watch Video Solution

17 cos θ = 15 tan θ + 2 sec θ

28. Given 5 cos A - 12 sin A = 0 , evaluate : 

sin A + cos A

2 cos A − sin A

https://dl.doubtnut.com/l/_z8oyEAiBdV3J
https://dl.doubtnut.com/l/_aDvCO1U3nwCX
https://dl.doubtnut.com/l/_A8t2bO00gEet
https://dl.doubtnut.com/l/_GHbaxZIHtSXD


Watch Video Solution

29. In the given figure,  and D is midpoint of AC. Find : 


 

Watch Video Solution

∠C = 90∘

tan∠CAB

tan∠CDB

30. In the given figure,  and D is midpoint of AC. Find : 


 

Watch Video Solution

∠C = 90∘

tan∠ABC

tan∠DBC

https://dl.doubtnut.com/l/_GHbaxZIHtSXD
https://dl.doubtnut.com/l/_6sKuUWP6UZAI
https://dl.doubtnut.com/l/_1LmAT2XNLyW1


31. If 3 cos A = 4 sin A, find the value of : 

cos A

Watch Video Solution

32. If 3 cos A = 4 sin A, find the value of : 

Watch Video Solution

3 − cot2 A + cosec2A

33. In triangle ABC,  and tan A = 0.75 If AC = 30 cm, find

the lengths of AB and BC.

Watch Video Solution

∠B = 90∘

https://dl.doubtnut.com/l/_1LmAT2XNLyW1
https://dl.doubtnut.com/l/_ijFVfKfEFZec
https://dl.doubtnut.com/l/_7F6YtXFV1PWN
https://dl.doubtnut.com/l/_OkAUFRW6TQYF


34. In rhombus ABCD, diagonals AC and BD intersect each other at

point O. 

If cosine of angle CAB is 0.6 and OB = 8 cm, find the lengths of the

side and the diagonals of the rhombus.

Watch Video Solution

35. In triangle ABC, AB = AC = 15 cm and BC = 18 cm. Find : 

cos B

Watch Video Solution

36. In triangle ABC, AB = AC = 15 cm and BC = 18 cm. Find : 

sin C

Watch Video Solution

https://dl.doubtnut.com/l/_1ydoni2uTa9c
https://dl.doubtnut.com/l/_ewTKDzhrXhIT
https://dl.doubtnut.com/l/_oJhXYcKsM1fm
https://dl.doubtnut.com/l/_C9TuWZTmb4KV


37. In triangle ABC, AB = AC = 15 cm and BC = 18 cm. Find : 

Watch Video Solution

tan2 B − sec2 B + 2

38. In triangle ABC, AD is perpendicular to BC. sin B = 0.8, BD = 9 cm

and tan C = 1. Find the length of AB, AD, AC and DC.

Watch Video Solution

39. Given : q tan A = p, find the value of : 

Watch Video Solution

p sin A − q cos A

p sin A + q cos A

40. If sin A = cos A, find the value of .2 tan2 A − 2 sec2 A + 5

https://dl.doubtnut.com/l/_C9TuWZTmb4KV
https://dl.doubtnut.com/l/_o03vERerAKFm
https://dl.doubtnut.com/l/_hwG35iZ6Sr2p
https://dl.doubtnut.com/l/_wH4iNFT0zoza


Watch Video Solution

41. In rectangle ABCD, diagonal BD = 26 cm and cotangent of angle

ABD = 1.5. Find the area and the perimeter of the rectangle ABCD.

Watch Video Solution

42. If 2 sin  , evaluate . 


Watch Video Solution

x = √3

4 sin3
x − 3 sin x.

43. If 2 sin  , evaluate . 


.

Watch Video Solution

x = √3

3 cos x − 4 cos3 x

https://dl.doubtnut.com/l/_wH4iNFT0zoza
https://dl.doubtnut.com/l/_lUc4pgsbHuke
https://dl.doubtnut.com/l/_5EbkbH0YJDO7
https://dl.doubtnut.com/l/_evJNtuUEAsYi
https://dl.doubtnut.com/l/_DXabGQDI4hSB


44. If  , find the value of : 

Watch Video Solution

sin A = and cos B =
√3
2

√3
2

tan A − tan B

1 + tan A tan B

45. Use the informations given in the following figure to evaluate :

. 

Watch Video Solution

+ − 6 cot y
10

sin x

6

sin y

46. If , find : 

Watch Video Solution

sec A = √2
3 cot2 A + 2 sin2 A

tan2 A − cos2 A

https://dl.doubtnut.com/l/_DXabGQDI4hSB
https://dl.doubtnut.com/l/_Wi12wfSon0Sv
https://dl.doubtnut.com/l/_qduLEx4fpOts
https://dl.doubtnut.com/l/_ZQ8Zm7heMFVX


47. If  , evaluate : 

Watch Video Solution

5 cos θ = 3
cosecθ − cot θ

cosecθ + cot θ

48. If cosec A + sin A =  , find the value of .

Watch Video Solution

5
1

5
cosec2A + sin2 A

49. If , evalutate : 


Watch Video Solution

5 cos θ = 6, sin θ

tan θ

50. If , evalutate : 


Watch Video Solution

5 cos θ = 6, sin θ

12 sin θ − 3 cos θ

12 sin θ + 3 cos θ

https://dl.doubtnut.com/l/_ZQ8Zm7heMFVX
https://dl.doubtnut.com/l/_rsVsbmSZQJM3
https://dl.doubtnut.com/l/_kv0ZFnjzN7qj
https://dl.doubtnut.com/l/_n8kYDou1MzLV


https://dl.doubtnut.com/l/_n8kYDou1MzLV

